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% Text, 12-6(a)
W=150e3;
w=-W:W;

L=1le-3;
C=1e-6;
R=10;

H=-w."2*L*C ./ (-w."2*L*C + J*w*R*C+1)
Ffigure(l),subplot(2,1,1),plot(w,abs(H)),xlabel (" freq w
(rad/sec)"),ylabel ("magnitude™),title("Frequency Response®),grid on
subplot(2,1,2),plot(w,angle(H)),xlabel ("freq w (rad/sec)"),ylabel("angle
(radians)"),grid on
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% Text, 12-6(b)
W=1500;
w=-W:W;

C=1e-6;
R=1000;

H=j*w*C./(*w*C*R+1);
figure(2),subplot(2,1,1),plot(w,abs(H)),xlabel("freq w
(rad/sec)"),ylabel ("magnitude®),title("Frequency Response®),grid on
subplot(2,1,2),plot(w,angle(H)),xlabel("freq w (rad/sec)"),ylabel("angle
(radians)"),grid on
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% Text, 12-6(c)
W=1e6
w=-W:100:W;

L=1le-3;
C=1e-6;
R=100;

H=(~w."2*R*L*C) ./ (~W."2*L*C+j*W*R*C+1) ;
Ffigure(3),subplot(2,1,1),plot(w,abs(H)),xlabel("freq w
(rad/sec)"),ylabel ("magnitude™),title("Frequency Response®),grid on
subplot(2,1,2),plot(w,angle(H)),xlabel ("freq w (rad/sec)"),ylabel("angle
(radians)"),grid on
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